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General Instructions :
All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each. Section - B comprises of 8 questions of
2 marks each. Section - C comprises of 10 questions of 3 marks each and Section - D
comprises of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-“A’

Question numbers 1 to 10 are of one mark each.
Which of the following is a non-terminating repeating decimal ?

35 14 7
(A 14 B) 35 © = D) ¢

If one zero of 2x2—3x+k is reciprocal to the other, then the value of k is :
-2 -3

(a) 2 ®) >

(© (D) -3

ABC and DEF are similar triangles such that £ A=47° and £E=83° then £Cis:
(A) 60° (B) 70° (C) 50° (D) 80°

If x=23x3x52% y=22x33, then HCF (x, v) is :
A) 12 (B) 108 Q) 6 (D) 36

The upper limit of the median class of the following distribution is :

Class 0-5 6-11 | 12-17 | 18-23 | 24-29

Frequency 13 10 15 8 11

(A) 17 (B) 17.5 (©) 18
The value of tan1°.tan2°.tan3° tan89° is :

(A) 0 B) 1 © 2

The number of polynomials having zeroes —2 and 5 is :
A 1 (B) 2 < 3 more than 3

) 1 1
Given that sin A = 5 and cos B = — then the value of A+Bis:

J2
(A) 30° (B) 45° (C) 75°

The value of 5 tan20 —5 sec?0 is :
A) 1 B) -5 <© 0

[cos A
cot A

+ sin A] is :

(A) cotA (B) 2sinA
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SECTION - ‘B’

Question numbers 11 to 18 carry 2 marks each.

Is 7x11x13+11 a composite number ? Justify your answer.

In figure 1, DE||OQ and DF||OR. Show that EF||QR.

P

N

Figure 1

Determine whether the following system of linear equations has a unique solution, no solution
or infinitely many solutions :

4x—5y=3 and 8x—10y=6.

4sin 6 + 3 cos 6
4sin® —3cos O’
OR

4
If cotf = 3 evaluate

24
If tan 6 = — find the value of sin 6 + cos 0.

Find a quadratic polynomial whose zeroes are 3 + /5 and 3 — /5.

BC?> _ BD

In figure 2, ZACB=90° and CD L AB. Prove that AC2 =AD"

C

DM
Figure 2
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The median class of a frequency distribution is 125 - 145. The frequency and cumulative
frequency of the class preceding to the median class are 20 and 22 respectively. Find the sum
of the frequencies, if the median is 137.

A survey conducted on 20 households in a locality by a group of students resulted in the
following frequency table for the number of family members in a household.

Family size : 1-3 3-5 5-7 7-9 9-11
Number of families : 7 8 2 2 1

Find the mode for the data above :

SECTION -‘C’

Question numbers 19 to 28 carry 3 marks each.

Half the perimeter of a rectangular garden, whose length is 4 m more than its breadth is
36 m. Find the dimensions of the garden.

OR

Yash scored 40 marks in a test, getting 3 marks for each right answer and losing 1 mark for
each wrong answer. Had 4 marks been awarded for each correct answer and 2 marks been
deducted for each incorrect answer, then Yash would have scored 50 marks. How many
questions were there in the test ?

Show that the square of any positive integer is of the form 4q or 4q +1 for some integer q.
OR

Use Euclid’s division lemma to show that the cube of any positive integer is of the form 9m,
9m+1 or 9Im+38.

If « and B are the zeroes of the polynomial x2 —5x + k such that « — =1, find the value of k.

cosec2(90 —0) — tan?0 2

Evaluate : + 3 sin 48° sec 42° — é tan? 60° .

5 (cos2 48° + cos? 42°)

Prove that (1+cot 6 —cosec ) (1+tan 6 +sec 8)=2.

If the areas of two similar triangles are equal, prove that they are congruent.
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25. Find the mean of the following frequency distribution using step-deviation method.

Classes 10-15 15-20 20 - 25 25-30 30-35

Frequency 4 5 12 2 2

OR

Find “p’ if the mean of the given data is 15.45.

Classes 12-18

Frequency p

26. In figure 3, ZCED = ZCAB show that ACED~ACAB. Also find the value of x.

C

9cm
Figure 3

Find the LCM and HCF of 15, 18, 45 by the prime factorisation method.

Find the median of the following data :

less than | less than | less than | less than | less than

Heicht (i
eight (in cm) 120 140 160 180 200

Number of students 12 26 34 40 50
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SECTION - ‘D’

Question number 29 to 34 carry 4 marks each.

Find all other zeroes of the polynomial p (x)=2x>+3x2—11x—6, if one of its zero is —3.

cot A +cosecA—1 1+cosA

P that = B
rove tha cot A —cosec A +1 sin A

If a line is drawn parallel to one side of a triangle to intersect the other two sides in distinct
points, the other two sides are divided in the same ratio. Prove it.

OR

Prove that in a triangle, if square of one side is equal to the sum of the squares of the other
two sides, then the angle opposite to the first side is a right angle.

sin A + cos A sin A —cos A _ 2
sinA —cosA sinA+cosA  ginZA — cosZA

Prove that

OR

p h cos A +1—sinA_zseCA
rove that 1—sin A cos A )

Solve graphically : 2x—y=2 and 4x —y=4 shade the region between these lines and the
y-axis.

The following distribution gives the daily wages of 50 workers of a factory.

Daily wages (in Rs) | 20-40 | 40-60 | 60-80 |80 -100 {100 - 120|120 - 140{140 - 160
Number of workers 4 6 10 16 12 7 3

Convert the above distribution into a less than type cumulative frequency distribution.
Draw its ogive and find the median.
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35 14 1
A 4 B) 5 © 5

Ffg 2x2 — 3x +k 1 Teh Ik T 1 Ay 2 al k T 7H € :
-2 -3

(A) 2 B ©

5 (D) -3

ABC 91 DEF <1 90&Y 4 30 TR T : L A=47° T L E=83° 9 ~ C &1 UM ¥
(A) 60° (B) 70° (C) 50° (D) 80°

Ifg x=23x3x 52, y=22x33 q@ HCF (x, y) |
(A) 12 (B) © (D)

e sfeq o wifearent ol o1 s W ©

FHAWA| 0-5 12 -17

IRARAT 13 15

(A) 17
tanl°.tan2°.tan3°

(A) 0 B) 1

TEIRI ! HeA 9 IE —2 95 § Bl
(A) 1 (B) 2 < 3

1 1
fen g sinA=—dal cosB= — T A+B & °M 2|
2 V2 8

(A) 30° (B) 45° (C) 75°
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5 tan20 — 5 sec?0 &1 M %I
A) 1 (B)

cos A

10. [
cot

+ sinA]w%|
(A) cotA (B) 2sinA
LUs-o
U9 WEAT 11 ¥ 18 A Weh WY 2 3(h! T &l

11. FM7x11x13+11 Th 9T AT &7 04 S &1 e fed |

Hfd 1 #, DE||OQ @& DF||OR. <¥iisd fF EF||QR.

P

N

Tpfa-1

M HITY FT 4x — 5y =3 T 8x — 10y = 6 sk THIHON 1 31f5ea &, HIE 7 Tl A1 7 &
4

4sin 6 + 3cos6
4sin® —3cos 0O’

I0

'ﬂ'ﬁcot6=§%ﬁaﬁﬁﬂl

¢ tan 0 = %?ﬁsinﬂ+cosﬁﬁﬂ1‘[§lﬁ‘cﬁﬁl
39 fgemd ague 1 1 HIfC {59 =% 3 + /5 91 3 — /5 |
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2 . _ 2
, cosec(90 ~ §) —tan"6 % sin 48° sec 42° — é tan?60°.

EIEEICIERUE
5 (cos2 48° + cos? 42°)

fag HIST (1 + cot 6—cosec ) (1+tan 6 +sec 0)=2.

Ifg < gHET Sl #1 ket SR &1 d fag & 3 gatmem §

=1 sRerar sied &1 9 fager fafy gro wen femfan )

T A=A 10-15 15-20 20-25 25-30

IRARAT 4 5 12 2

T
p 1 T A ST afg 197 seX 1 a7 1545 7

I STTA 0-6 6-12 12-18 | 18-24

AR 6 8 p 9

3Thfd 3 H, £ CED= £ CAB 39158 ACED~ACAB x 1 A I I & |

9cm

R Ta-3
15, 18, 45 1 AR UGS g LCM (A.9.9.) T2 HCF (F.9.9.) Fd & |

=1 sfenel 1 wifeeht Id 4 |

e QA 120 9 | 140 @ =9

foenfeiai 1 g 12 26
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Queg-q
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p (x)=23+3x2—11x— 6 & | 3R y=F e I sHea T & -3 7|

cotA+cosecA—1 1+cosA

g =ife =

cot A —cosec A +1 sin A

fag & afe fFeh s =t T o & FHidR 7= el &1 fie-fie fageil R ufase #1 &
ferdt ek v weht <, @t ot 1 [T ek € erg H faenfer < S
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sinA+cosA+sinA—cosA_ 2
sinA —cosA sinA+cosA  sinZA — cosA

g =ife

a"

cos A 1—sin A

aﬁﬁﬁq' + =2sec A
fs "1—-sin A cos A ’

TTF §RT A HIMT 2x — y=2 T 4y — y =4 TAT 39 & ] SHAIhd HITSC &Il QAT @S qe
y-318 % A T

T SRERAT sied 50 A5gU &1 thag! st I Aol 9T & |

<f7e At =i H | 20-40 | 40-60 | 60-80 |80 -100 {100 - 120/120 - 140|140 - 160
HSIGU 1 Ge& 4 6 10 16 12 7 3
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1040109 - A1l




